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	Task 1
	Task 2
	Task 3
	Task 4

	Practice
Use Base 10 jottings to answer these calculations:

26 + 17 = 43

37 + 24 = 61

34 + 29 = 63

48 + 16 = 64

54 + 37 = 91

 
	Practice
Use Base 10 jottings to answer these calculations:

39 + 22 = 61

32 + 48 = 80

54 + 39 = 93

52 + 31 + 18 = 91

50 + 36 + 35 = 121

55 + 26 + 61 = 142




	Reasoning
Explain your answers.
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3b. Logan is incorrect. He has added the
ones correctly but forgotten to add the
exchanged ten to the tens column. The
answer should be 60.
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3a. Scarlett is incorrect. She has forgotten
to add the extra 10 after exchanging the
ten ones. The answer should be 71.
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